B VCE & PDF https://lwww.geekcert.com/hpe0-j80.html
' 2024 Latest geekcert HPEO-J80 PDF and VCE dumps Download
: GeekCert.com

HPEQ-J80RAs

Delta - Architecting Multi-Site HPE Storage Solutions

Pass HP HPEO-J80 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/hpe0-j80.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by HP Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest HPEO-J80 Dumps | HPEO-J80 PDF Dumps | HPEO-J80 VCE Dumps 1/3


https://www.geekcert.com/hpe0-j80.html
https://www.geekcert.com/hpe0-j80.html
https://www.geekcert.com/hpe0-j80.html

VCE & PDF https://lwww.geekcert.com/hpe0-j80.html
2024 Latest geekcert HPEO-J80 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

You are designing a Fibre Channel storage solution for a customer who is currently attaching all hosts through the
Ethernet and the TCP/IP protocol.

What is an advantage of choosing Fibre Channel over TCP/IP?
A. Less costly networking hardware

B. Support for greater distances

C. Less overhead

D. More robust error correction

Correct Answer: D

QUESTION 2

Which requirements must be considered when designing and sizing an HPE 3PAR StoreServ environment for periodic
asynchronous replication?

A. Size only the source array to account for the IOPS resulting from snapshot created by Remote Copy.
B. Size both arrays to account for the IOPS resulting from snapshots created by Remote Copy.

C. Use a CPG with SAS drives for Remote Copy snapshots.

D. Size only the target array to account for IOPS resulting from snapshots created by Remote Copy.

E. Use a CPG with nearline drives for Remote Copy snapshots.

Correct Answer: AE

QUESTION 3

Which Statement is correct about designing a Flat SAN solution using an HPE 3PAR StoreServ storage system?
A. Up to four connections/uplinks per enclosure are supported.

B. The initiator minimum bandwidth setting should be set to 4 Gb.

C. Up to six connections per Virtual Connect Module are supported.

D. The initiator peak bandwidth settings should be set to 6 Gb.

Correct Answer: A

QUESTION 4
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Your customer is concerned about downtime during storage system upgrades.

Which method of technology addresses this concern when using an HPE 3PAR StoreServ solution?
A. Persistent Peers

B. Persistent Cache

C. Persistent Ports

D. Persistent RAID

Correct Answer: C

QUESTION 5

You are designing a solution involving HPE 3PAR storage for a customer. The customer\\'s business is experiencing
significant growth, which requires them to invest in a highly- available storage solution. The customer has already
invested in two separate data centers, but cannot initially afford to purchase two systems. The solution must be capable
of providing complete local hardware redundancy. In the near future, the solution will be expanded to be geographically
independent, and storage systems will be located in both data centers.

Which HPE 3PAR Storeserv storage system feature could be an essential advantage to this customer\\'s business
case?

A. All current HPE 3PAIR storage system models can replicate data with each other and provide transparent failover of
access to data between data centers.

B. Only HPE 3PAR 8000 storage system models can replicate data with each other and provide transparent failover of
access to data, independent of the number of controller nodes per storage systems.

C. All HPE 3PAR storage system models with an identical number of controller nodes can replicate data with each other
and provide transparent failover of access to data between data centers.

D. Only current HPE 3PAR 8000 and 2000 storage system models can replicate data with each other and provide
transparent failover of access to data when the number of controller is identical

Correct Answer: D

Latest HPEO-J80 Dumps HPEQO-J80 PDF Dumps HPEO-J80 VCE Dumps

Latest HPE0-J80 Dumps | HPE0-J80 PDF Dumps | HPE0-J80 VCE Dumps 3/3


https://www.geekcert.com/hpe0-j80.html
https://www.geekcert.com/hpe0-j80.html
https://www.geekcert.com/hpe0-j80.html
http://www.tcpdf.org
https://www.geekcert.com/hpe0-j80.html
https://www.geekcert.com/hpe0-j80.html
https://www.geekcert.com/hpe0-j80.html

